Q, Response Review

LA

Student ID/Username: Full Name: Group/CRN: Delivery Method:

College: Course Name: Area/Branch Name:

Grade11 G11GEN.CHM - Chemistry G11 —

Exam: Activity Type: Time Spent: Total Marks:

2022-2021 - Wl whdl Joddl 4;... Final 64 mins, 41 secs 105/125

Q.1: Jglxoll Solution Mark(s): 5/5
The most plentiful substanceinthe L et Jgladll 85,85 S 3ala

solutioniscalled......................

Learning Outcomes Covered

o CHM.5.3.03.006

P 0 1 1
1 1
a.; :
1
i solvent Cooll
: ]
1 1
L o H
b.
solute <
C.
molecular compound oS
d.

ionic compound YT U



Q.2: JglxoJIA solution Mark(s): 5/5

The solid substance produced during a Sl Jeldt DA,
chemical reaction in a soluton ...
iscalled.........................

Learning Outcomes Covered

o CHM.5.3.01.009

P 1
1 1
a.; .
1 I 1
| a precipitate " -
i :
1 1
] 1
L e T T T E
b.
a gas K
C.
a water molecule slell g
d.

a spectator ion B NGTY



Q.3: JgoJl Mole

Which of the following represents one mole of copper?

Learning Outcomes Covered

o CHM.5.3.01.002

6.02x1022% atoms

Mark(s): 0/5

ewﬁ|wh1jdﬁ&é&m$i

A e 6.02%1

3

EEquaIs the atomic number of copper

The mass of 1 g copper

d.
The number of copper atoms in 1 g of pure copper



Q.4: d2uall The formula Mark(s): 5/5

What is the formula with the smallest whole number S all &5 Sl e

mole ratio of the elements called?

Learning Outcomes Covered

o CHM.5.3.01.009

- L L S 1 1
1 1
a.; .
1 . 1
' Empirical formula ER e 1
i i
1 1
1 1
T T I TS TSNS TTTNSTCTTTTISINCS IO TCSTECTECTTOIO IO TNCGTNCTTTNOTIOINOGTIO NG TNCTTOIOTIOTTOGTNOTNTCTIINOGTOGTOTCTCTTIIOTTIOTNCGTNCTTTTITIOTEOTCTOTTIOTTTITCTTIITITOYTTTTITITITNTTTTITITIITIYNIYTYTTT ol
b.
Molecular formula Ay Sl da
C.
Structural formula ALl da
d.

Geometric formula Al daas



Q.5: ddgell dliSJIThe molar mass

Using the part of periodic table of elements below,

What is the molar mass of sodium hydroxide

compound NaOH?

Mark(s): 5/5

ol ).n.al_la_u J-J.j'ﬂi {.J_j-\%-h > PR
INGOH o350 seall 2 ot € 1 i 1) A L

HYDROGEN . A HELIUM
] Part of the Periodic Table 5
H ol Jsaall e s 3 He
1.00 4.00
LITHIUM BERYLLIUM BOROM CARBON MNITROGEN OXYGEN FUORINE MNEON
3 4 5 5] 7 g 9 10
Li Be B C N 0 F Ne
6.4 5.01 10.81 12.01 14.00 16.00 15.00 20.18
sS0DIumM MAGNESIUM | ALUMINUM SILICON PHOSPHORUS SULFUR CHLORINE ARGON
11 12 13 14 15 16 17 18
Na Mg Al Si P S cl Ar
Learning Outcomes Covered
o CHM.5.3.01.004
P ¢
1
a.!
1
; 40 g/mol
:
1
1
e o o o R R R R R R R RN R RN RN N RN RN N R RN RN N N RN RN N NN NN R N RN NN N N RN NN NN N N RN N N RN NN RN N RN RN N N RN NN N N RN NN N N NN N R RN NN N N N RN NN N N RN RN N R RN RN RN N RN RN R RN R R
b.
80 g/mol
C.
19 g/mol
d.

60 g/mol



Q.6: Uyl OY¥g0 Moles of atoms Mark(s): 5/5

How many moles of iron atoms Fe are present in 8 32 gall Fg wasll &l 53 e Y g oS
111.69 g of Fe? *Fe = 111.69 g
( Molar mass of iron =55.85 g/mol) (55.85 g/mol = waall 4 goli 41<li)

Learning Outcomes Covered

o CHM.5.3.01.004

a. 1

oi
2

c. 3

d.



Q.7: LY Jlagiw)l OMelay Single replacement reaction Mark(s): 5/5

Using the activity series shown below, colial | SleasSl Jalial) Al naiing
Which of the following reaction will occur? sy Al oot gl

Activity Series bolis ilule
of Halogens e e

. ach |
Fluorine Selal! L{.‘ii Most
Chlorine »JSJ: active
Bromine pasd 3%
lodine 252! u"fl_... :iiliite
Learning Outcomes Covered
o CHM.5.3.01.020
a.l
E FZ(BJ + FEIZ(aq) o
b.
12{’_5) + MI’IBI‘Z(aq) — e
c.
Bl‘z(l) + COCIz(aq) — e
d.

Clz(s) + SI"Fz(aq) —p e



Q.8: uligsVllons Mark(s): 5/5

The ions that do not participate in the reaction i o) Alaaall 3 jedan W g Jelil 8ol LY Al gl
and are not shown in the net ionic equaton ... (s 43 yuall
are called..............

Learning Outcomes Covered

o CHM.5.3.01.009

a.
central ions A8 el il g
o
b.1
i .
1 spectator ions da il g
i
1
1
[ o o R R R R R N N N N RN N R RN N RN N RN RN N NN RN N NN N N RN N RN RN R RN N RN RN N RN N N RN N N N N NN RN R RN N RN RN R RN N N NN N R N RN N N RN R RN N RN N R N R N R R R
C.
net ions 4 peall s
d.

complex ions Baiedll cilig



Q.9: WlesSII Jelaill ¢ 45 Type of chemical reaction Mark(s): 5/5

What type of reaction does the following chemical FAalul Al dlalaall 4bial o) Jeldill £ g5 la
equation describe?

2NaN3(S) — ZNQ(S) + 3N2(9)
Learning Outcomes Covered

o CHM.53.01.016

a.
Double replacement z sl Jlas
b.
Combustion aly
e 3
c! :
i Decomposition Coal
d.

Single feplacement @MY Jlas



Q.10: Uyl >ac Number of atoms Mark(s): 5/5

How many Zn atoms in 2.0 mol of Zn element? fZn yaic 3« 2.0 mol A8 sl Zn < jo 2

( Avogadro’s number = 6.02x1023) (6.02 X 1023) = 5 0a gl 2xc)

Learning Outcomes Covered

o CHM.5.3.01.003

3.01x1023

3.61x10%

2.40x10%4



Q.11: UMcladl Reactions Mark(s): 0/5

What is the similarity between the two ol e il
following reactions?

2HI(aq) + Li»S(aq) — H.S(g) + 2Lil(aq)
H.CO3s(aq) — H>O(l) + CO(g)

Learning Outcomes Covered

o CHM.5.3.01.016

a.
Both forms gases Gl S Labl
B B B B ':
b.! E
: Both forms water molecule sle ss i O3S Laa '
C.
Both forms solid substances Aalin 3l ga (S0 Laal
d.

Both forms precipitate il ) oS Laa)



Q.12: Jyg=il Joloe Conversion factor Mark(s): 0/5

What is the correct conversion factor for G F Gl Jeas ol agdl Coin ff sl (B gadill Jalat L
describing the arrow with the letter F in the folaal Jalaa )
chart below?

&

! \
L

il gl gl Dl Y g 22
Mnl{fs nf atoms or ions

; P
Learning Outcomes Covered
o CHM.5.3.01.003
i
1
a.!
1 y .
i 1 mol atom or ions ost sls 0 s
' Bl
' 1mol compound S pe Jsa 1
:
1
L e T T T
b.
1mol compound € e Jse 1
1 mol atom or ions ol 3,001
C.
1 mol Jse 1
number of grams el pall e
d.
number of grams il jall e

1mol Jse1



Q.13: 2- WibesSIl Jelaill ¢ gi-Type of chemical reaction

Using the figure below,
What type of chemical reaction does
the equation represent?

Learning Outcomes Covered

o CHM.53.01.017

Double replacement

Combustion

Decomposition

2Nals)

O
&

+

+

Cli(g)

e’

Mark(s): 5/5

colial Rl Gasdtid
Talilaall Alidh AN Sleasl) Jelall ¢ gile

—  2NaCl(s)
rd'
p
-
~
_—

EJJJ‘J! d'|.ll:\ o



Q.14: 15lg)l JgoJl S The mass of one mole Mark(s): 5/5

The mass in grams of one mole of any pure ... e B juaie Y el jally aal gl J sl AL
substance iscalled ..................

Learning Outcomes Covered

o CHM.5.3.01.003

P D NN N D N - 1
1 1
a.! '
1 - [
' the molar mass ad 7oAl
i i
] 1
1 1
L o T T T o
b.
el e " ALY

the gram mass

the percent by mass Al A g Al

the molecule’s mass e Aks



Q.15: dspall Eiyg.;_ill dleelINet ionic equation Mark(s): 5/5

What is the net ionic equation for the g Al el Jolall 4 peall 4 ) dlaladdl Lo
following chemical reaction?
Bﬂ(NOa)z(aq) + Nazcoa(aq) — BaCO3(s) + 2N3N03(aq)

Learning Outcomes Covered

o CHM.5.3.01.020

2Naf,q) + 2NO3(,q) = 2NaNO3(,q)
Ba(,,) + 2NOj,q) + 2Na( ) + CO3 ) — BaCOs() + 2NaNOs(,q)

3(aq

Ba%;q) + 2NO3 (g + 2NaE“aq) + cog(‘aq) — Na,C03(5) + Ba(NO3)z(aq)



Q.16: UV g0 dae Ulw> Calculation of number of moles Mark(s): 5/5

How many moles of oxygen atoms are present 1.00 mol 25252,

in 1.00 mol of diphosphorus pentoxide P205? ‘P05

Learning Outcomes Covered

o CHM.5.3.01.004

a. 1

5 ';
s 5 s

C. 1 0

d.

35



Q.17: dJg¥l d2.all The empirical formula

What is the empirical formula of propane,

if it is composed of 81.82% carbon and

18.18% hydrogen?

Mark(s): 0/5

e by ll A Y1 dasial

fisn52218.18% 5 03 = 81.82% = 0.

HYDROGEMN . = HELIUM
A Part of the Periodic Table 5
H Sl Jsaall e s i He
1.00 4,00
LITHIUM BERYLLIUM BORON CARBON NITROGEN OXYGEM FUORIMNE MEON
3 4 5 5] 7 8 9 10
Li Be B C N (o] F Ne
6.54 5.01 10.81 12.01 14.00 16.00 15.00 20.18
S0DIUM MAGNESIUM | ALUMINUM SILICON PHOSPHORUS SULFUR CHLORINE ARGON
11 12 13 14 15 16 17 18
Learning Outcomes Covered
o CHM.5.3.01.009
a.
C3Hg
b.
CoHg
P
[ |
C.;
1
: CHy
:
1
T T T TS ST TTTCTTTTTTO IO IO TNOTNECTOTTOICOINO NG TNOTOTTNOTOTIOGTINOTNEGTNTTOTIOGTOTTOTNOTCTTIIOGTGTOTCTCTTIIGTTTIOTNCGTNOTTTTTITIOGTIEOTCTCTTIGTTTITCTTIITITOTITTITTITTTITTITTITIYINTYTT
d.



Q.18: (lesS Jelay Uga> e Ju> An evidence of a chemical reaction Mark(s): 5/5

Which of the following does Not show an evidence S lial Jel&i &ygan

of a chemical reaction?

Learning Outcomes Covered

o CHM.53.01.014




Q.19: 4l dJI 30y Symbol of gas phase Mark(s): 5/5

Which of the following symbols represents Faalall 4 jladl Allal) Jidd Al g ga !

the

gas phase of a substance?

Learning Outcomes Covered

o CHM.53.01.014

O

(s)



Q.20: dSJl cuusy & giell duwill The percent by mass

Mark(s): 5/5

What is the percent by mass of oxygen elementin  TKCIOz S jall & ;s joaial AHCH Couny 4 giall Al L

KCIO3z; compound?
(Molar mass of KClIOz= 122.55 g/mol
and of O= 16 g/mol)

mass of element in 1 mol of compound
P X 100

percent by mass=

molar mass of compound

Learning Outcomes Covered

o CHM.5.3.01.009

122.55 g/mol =KCIO; - 4 sli 4Ii<ll)
(16 g/mol =0 1

ol el mol JoeemliE . .
100 x PR =AECH) e A giall Al

28.89%

32.66%



Q.21: &b j=Jl dswall The molecular formula Mark(s): 5/5

A molecular compound has the empirical formula XY3 XY3 aal ¥ 2
Which of the following is a possible molecular formula? faldiaall A )

Learning Outcomes Covered

o CHM.5.3.01.009

a.

XY,
b.

XY,
C.

X.Ys

2
=



Q.22: 3 WileuSJI Jelaill ¢ gi-Type of chemical reaction Mark(s): 5/5

What is the type of reaction that oxygen combines ae nSY) 4 aa QM) el & gl
with a substance and releases energy in the form €6 g b)) a5 3aa (A Al Gl o) gl 50a)

of heat and light?
Learning Outcomes Covered

o CHM.53.01.016

a.
Double replacement reaction z 32 el Jlagay) Je!
b.1
i Combustion reaction 8 iy K
C.
Decomposition reaction eal)
d.

Synthesis reaction sl oo



Q.23: UVgs dliS The mass of moles Mark(s): 5/5

What is the mass of 0.5 mol of Ca(OH)2? fCa(OH); =Js05 U=
(Molar mass of Ca(OH)2= 74.10 g/mol) (74.10 g/mol = Ca(OH)z - 44l sl ALK )

Learning Outcomes Covered

o CHM.5.3.01.004

148.2 g
b.!
i 37.05¢
C.
7410 g
d.

185.25 g



Q.24: d5lessdl dslell &jlge Balancing chemical equation Mark(s): 5/5

Which coefficient correctly balance the chemical Folial A bl Adtaall e S (3 o) Jalaal) Le
equation below?
2N30H{aq) + CaBrz(aq) — Ca(OH)g(S) +e NaBr(aq)
Learning Outcomes Covered
o CHM.53.01.014
a.
1
b.!
; 2
C.
3
d.



Q.25: yo0> Jelai HBr go NaOH Mark(s): 5/5

What happens when Hydrobromic acid solution HBr HBr el p g el e Jslas hald die Gy Dl
is mixed with sodium hydroxide solution NaOH? INaOH 222 pall 2085 08 Jslas aa

Learning Outcomes Covered

o CHM.5.3.03.006

a.l ;
i Water H20 is formed H20 L ¢ L3
b.
Hydrogen gas Hz is released during the reaction deldll ol Hp foa s ol Sl G 2
C.
Solid NaBr precipitates out of the solution Jsladdl (e Clall NaBr s s seall 2 g e 0
d.

Solid Na metal is produced lall Na agasall 38,



